EARAROBREBRT —5 XN—ZXBISH—F

2024568108 () 3@IE1H

@ H~RSE B2B3 US%—i% BRI R
[AXE%) 1 %:2,700,000  ~ 23#&:1,080,000 337%&:675,000H . 4 3&:405,000 H 5 3&:270,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= =W 4 5 | EEHEX 2:13.6 2-2-1-1 | 42.3| — 3 45 | EBEEX (ot
11111 | T=2—RA=ZVA 55.0 (=) (-5 |WPES
RiXAYIVR—5— B IZ—-ANSTA4R #HBEI77—LA
— 8o — 4 3 | AHEE 2:13.9 5-4-2-1 | 42.3| — 1 464 | NEEE (115
21810/ A/—>2 53.0 a1/2 () | BEAE
RiFRF BATFTA— J=HUTr—L
< \ = - SEHERK 4. -9-4- . - MEEE (&
317|8| PV ALY—54 w5 | 2% by | e A
Ry I—=FIII B:F39IFPIFSR iEginEe]
- p— . -10-10- - AR (110)
1 . NP #4158 e I A R A
RU—FHISUY B:IUYFIUAN— pivatye: ]
o 6 | BEZ 2:14.0 8-8-7-6 | 41.9| — 9 482 | {ERAMZ (1)
5/5|5|7—2mWILb " 55.0 F9%) @7) | AHC @)
RibSVEVR B:UN-=Y)L gk B—
— = s )2 : -6-4- - BRET A
N . AEZIEPAYY #5 B G| TE e ° 3 [HEss
RiFVIvB/FE+ B:IVFUIAUY— /=Y Tr—I
N 45 | WiEHLT 2:15.3 11-11-11-8 | 42.2 | — 11 | 491 |FEEEE (1B
d - BEECACES 0 ©) G |REEL
R:SZ B:Ua19Y/INX thit  HBR
. EAIsH : {7 = LLIEBEE ()11iE)
glgl11|VTLA7— i 4 S 2.(1553.4 1-1-2-5 | 45.2 2 21_719) LwBg ¢ )
RIGURYZWT BAU—NRU—F AL AN IS
o EIHER : -5-6- - WEEE (115)
97| 9|1 T7TF— 45 o 2.(157).5 4-5-6-9 | 45.4 5 21:327) ﬁ%ﬁaﬁ
R:FINWRI— B:EIY—Y1—2R HEA% PRIDE ROCK
~ o » REHZ : ~7-9- - SRR (111
10 3| mrvFILNO—2 4 6 rag 2(.11/72.)6 6-7-9-10 | 45.4 6 Ezg;) ek
RiO—IRAA XA B:RAZE2—)b ARETa—T7—LA
= s P — {EFEX : -3-8- - HEEF— (&
" 54V reEy R o6 R 2.(179).0 3-3-8-11 | 47.1 10 21_765) = mﬂ(g
RIZART—=)LYF— BY=T—TIR b hARIS
@ 1—F—&RIEL
13—7— 11,1,7,9,10,3,2,5,8,4,6
20—F— 11,1,7,10,9,2,3,5,8,4,6
30—7— 1,(10,11),(2,8),9,5,7,3,4,6
40— — (1,10),2,8,11,5,4,6,9,3,7
o ILRE
BB 1 6204 JA R 1-10 540/ % 3E 1-8 760M4 3EE 1-8-10 2,520
B B 1 240 1-8 770M (=1 1-8 1,930 3EH 1-10-8 11,810
10 160 8-10 620/ 5 & 1-10 1,050
8 190M =51 1-10 2,100H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




